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PART A: Vocabulary

|

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |
sentence. Then mark the answer on your answer sheet.

1-  You’d better check out the

-- before deciding whether to go to a nearby college.

1) components 2) foundations 3) reflections 4) alternatives
2-  The workers have still not been for their loss of wages.
1) perceived 2) established 3) compensated 4) maintained
3- By the age of twenty, she had already --—--- fame and wealth.
. 1) achieved 2) confined 3) compiled 4) restored
4-  In all parts of the U.S. there is -——--- rainfall except near the rocky mountains.
1) suitable 2) acceptable 3) adequate . 4) widespread
5-  Health education programs are starting to ------ people’s eating habits.
1) deviate 2) influence 3) implement 4) fluctuate
6-  Witsky’s article describes the authority of a leader’s behavior.
1) dimension 2) resolution - 3) conformity - 4) consequence
7- - The government will examine the advantages of the teaching methods used in
schools. - il
1) discrete 2) various | 3) adjacent ~ 4) incompatible
8- Clouds can be into family groupings according to their height and shape.
1) specified 2) registered 3) classified 4) distributed
9- 1 was amazed at Sam’s lack of about singing in public.
1) inhibition 2) simulation 3) manipulation 4) contradiction
10- Freud was very interested in the of people’s dreams.
1) regulation 2) coordination 3) intervention 4) interpretation

Directions: Read the following passage and decide which choice (1 ), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

A little more than a hundred years ago, a number of European scholars began to record stories

(11) -=-=meee-- told in peasant cottages and compile them (12) the first great collections of
European folk tales. (13) --—----=-- evidence exists to prove that the folk tales they recorded existed
long before then, (14) ----------- . Collections of sermons from the 12th to the 15th century show that
medieval preachers knew of some of the same stories (15) ----------- by the 19th century folklorists.

11- 1) that 2) were 3) which ~ 4) being

12- 1) for | 2)into - 3) from 4) within

13- 1) To write 2) Written 3) They wrote - 4) Writing

14- 1) yet 2)too 3) though 4) perhaps

15- 1) for being recorded  2) like those 3) as recorded 4) as those recorded
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PART C: Readi Cnprnsin

Directions: Read the following three passages and choose the best choice (1), (2), (3), or
4). Then mark it on your answer sheet.

A rain gauge is a type of instrument used by meteorologists and hydrologists to gather
and measure the amount of liquid precipitation (as opposed to solid precipitation that
is measured by a snow gauge) over a set period of time. Types of rain gauges include
graduated cylinders, weighing gauges, tipping bucket gauges, and simple buried pit
collectors. Each type has its advantages and disadvantages for collecting rain data.
Rain gauges have their limitations. Attempting to collect rain data in a hurricane can
be nearly impossible and unreliable (even if the equipment survives) due to wind
extremes. Also, rain gauges only indicate rainfall in a localized area. One example of
this is in Seattle: the official weather station for the city is at Seattle-Tacoma
International Airport, the driest part of the city, which means that actual annual
rainfall for downtown Seattle is around 254 mm (10 in) greater than official records
indicate. For virtually any gauge, drops will stick to the sides or funnel of the
collecting device, such that amounts are very slightly underestimated, and those of
.01 inches or .02 mm may be recorded as a trace. Another problem encountered is
when the temperature is close to or below freezing. Rain may fall on the funnel and
freeze or snow may collect in the gauge and not permit any subsequent rain to pass
through. Rain gauge amounts are read either manually or by AWS (Automatic
Weather Station). The frequency of readings will depend on the requirements of the
collection agency. Some countries will supplement the paid weather observer with a

network of volunteers to‘obtain precipitation data (and other types of weather) for
sparsely populated areas..

The passage mentions that .

1) there are two types of reading rain gauge amounts

2) snow and rain amounts are gauged by the same mechanism

3) rain gauges are used to measure nearly all types of precipitation

4) hydrologists often difficulty gathering and measuring precipitation

It is stafed in the passage that -

1) simple buried pit collectors use graduated cylinders

2) localized areas are not accurately indicated in rainfall gauges

3) rain gauge instruments can get damaged as a result of severe storms

4) tipping bucket gauges have many disadvantages for rain data collection
The passage refers to the fact that : o
1) official records show that downtown Seattle gets much more rain than its airport

2) rain collection agencies need frequent readings to produce reliable weather preletlnns

3) traces of rain are normally left in the sides of the collecting device of rain gauge instruments
4) rain gauges usually show the amount of rainfall in an area as lower than what it actually 1s
We many understand from the passage that :

1) sparsely populated areas often get a lot of rain

2) rain data collection is not quite a specialised job

3) AWS may be used to gauge snow in some countries

4) Seattle airport has a very advnanced rain collection station

The passage is mainly about - s :

1) ‘rain gauges’ 2) ‘rainfall measurement

3) ‘limitations of rain gauges’ 4) ‘how 1o collect rainfall data’

MMQNUS)QM)'@HL&)UQEW‘S)L"@PT



V dxio ATYe o) aadi oU)

In drip, or trickle irrigation, water is delivered at or near the root zone of plants, drop
by drop. This type of system can be the most water-efficient method of irrigation, if
managed - properly, since evaporation and runoff are minimized. In modem
agriculture, drip irrigation is often combined with plastic mulch, further reducing
evaporation, and is also the means of delivery of fertilizer. The process is known as
fertigation. Deep percolation, where water moves below the root zone, can occur if a
drip system is operated for too long of a duration or if the delivery rate is too high.
Drip irrigation methods range from very high-tech and computerized to low-tech and
relatively labor-intensive. Lower water pressures are usually needed than for most
other types of systems, with the exception of low energy center pivot systems and
surface irrigation systems, and the system can be designed for uniformity throughout
a field or for precise water delivery to individual plants in a landscape containing a
mix of plant species. Although it is difficult to regulate pressure on steep slopes,
pressure compensating emitters are available, so the field does not have to be level.
High-tech solutions involve precisely calibrated emitters located along lines of tubing
that extend from a computerized set of valves. Both pressure regulation and filtration
to remove particles are important. The tubes are usually black (or buried under soil or
mulch) to prevent the growth of algae and to protect the polyethylene from
 degradation due to ultraviolet light. But drip imrigation can also be as low-tech as a
porous clay vessel sunk into the soil and occasionally filled from a hose or bucket.

Which of the following is TRUE according to the passage?
1) Water efficient methods are usually managed properly.

2) Trickle irrigation today can be used for fertilizer delivery.
3) The root zone of plants often gets drop by drop irrigation.
4) Modern irrigation minimizes water evaporation and runoff.
It stated in the passage that "
1) fertigation involves the use of plastic mulch

2) root zones are normally located beyond drip sources

3) drip irrigation methods can take a lot of man-power

4) high delivery rate is a major problem with drip irrigation
We understand from the passage that ;
1) precise water delivery is not possible at high water pressures

2) surface irrigation systems do not need a central pivot network

3) valves should be computerized for effective work in landscape irrigation
4) level fields may not need pressure compensating emitters for irrigation
The passage mentions that ’

1) drip irrigation tubes should not be exposed to ultraviolet light

2) clay vessels are attached to hoses or buckets in drip irrigation

3) pressure regulation can remove particle filtration in drip irrigation

4) polyethylene degradation can help algae grow on drip irrigation tubes

The word ‘porous’ in the last line is related in meaning to the word mentioned in
the passage.
1) ‘uniformity’ 2) ‘regulation’ 3) ‘fertilizer’ 4) *percolation’
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Crop rotation avoids a decrease in soil fertility, as growing the same crop repeatedly
in the same place eventually depletes the soil of various nutrients. A crop that leaches
the soil of one kind of nutrient is followed during the next growing season by a
dissimilar crop that returns that nutrient to the soil or draws a different ratio of
nutrients, for example, rices followed by cottons. By crop rotation farmers can keep
their fields under continuous production, without the need to let them lie fallow, and
reducing the need for artificial fertilizers, both of which can be expensive. Legumes,
plants of the family Fabaceae, for instance, have nodules on their roots which contain
nitrogen-fixing bacteria. It therefore makes good sense agriculturally to altemate
them with cereals (family Poaceae) and other plants that require nitrates. A common
modern crop rotation is alternating soybeans and maize (corn). In subsistence
farming, it also makes good nutritional sense to grow beans and grain at the same
time in different fields. Crop rotation is also used to control pests and diseases that
can become established in the soil over time. Plants within the same taxonomic
family tend to have similar pests and pathogens. By regularly changing the planting .
location, the pest cycles can be broken or limited. For example, root-knot nematode 1s
a serious problem for some plants in warm climates and sandy soils, where it slowly
builds up to high levels in the soil, and can severely damage plant productivity by
cutting off circulation from the plant roots. Growing a crop that is not a host for root-
knot nematode for one season greatly reduces the level of the nematode in the soil.

The passage states that ’ |

1) with crop rofation there is no need to let the field lie fallow

2) soil fertility can actually decrease as a result of crop rotation

3) various nutrients in the same place finally cause soil depletion

4) similar crops may return nutrients to the soil at different ratios

It is mentioned in the passage that .

1) cereals are normally rotated plants requiring nitrates

2) planting location change is a way of controlling pest cycles

3) nitrogen-fixing bacteria may be found on the legume plant family

4) artificial fertilizers can keep the field under continuous production

Which of the following is TRUE according to the passage?

1) Taxonomic families have similar pests and pathogens.

2) Root-knot nematodes can stop circulation from plant roots.

3) Soybeans and maize are rotated for corn in crop rotation.

4) We should plant beans and grain in the same field at the same time.

The passage is most probably about in crop rotation.

1) ‘pest cycles’ 2) ‘frequent plants’

3) ‘dangers of nematodes’ 4) ‘methods and purposes’

The word ‘leach’ in line 2 is most closely related to the word -

1) “fertilise’ 2) ‘damage’ 3) ‘remove’ 4) ‘increase’
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